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1. Ulelod, ﬁi Td 3 WEH Bddl o EXll 1. Lime induced chlorosis in spinach, wheat

IRT IR fhaaT o ¥ 2T & 2 and cerelas is due to deficiency of ............
(A) i (A) Calcium

(B) ¥eX (B) Sulphur

(C) SR (C) Iron

(D) gt (D) Magnesium

2 HIPT H GHT Bfolpr I fhadl H4 9 2. White bud of maize, a nutritional

BT & 2 deficiency disease is due to -
(A) DM (A) Copper

(B) HifcresT (B) Molybdenum

©) R (C) Zinc

(D) BRBRW (D) Phosphorus

3. dEd SMURY Rrerd feew ufquried 3. The carrier concept theory was proposed

o o ? by

(A) Honert (1937) (A) Honert (1937)

(B) Street (1962) (B) Street (1962)

(C) Lundegardh T Burstom (1933) (C) Lundegardh and Burstom (1933)
(D) Robertson (1951) (D) Robertson (1951)
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4. UId TwreA P EREGIG] g A ST Sar 4.  Avyellow enzyme is also known as :

g

(A) Vitamin B (A) Vitamin B,
(B) Vitamin B, (B) Vitamin B,
(C) Vitamin Bs (C) Vitamin Bs
(D) Vitamin Bg (D) Vitamin Bg

5. &9 oRU T § IR Xl T 5. Swelling of wooden doors during rainy

$ 9 season is due to :
(A) TR (A) Endosomosis
(B) [SwH (B) Diffusion
(C) TRA®IH (C) Translocation
(D) sfafde (D) Imbibition

6. M I & 999 Gerd SR a7 & 9wy 6.  Stomata open at night and close during

qe BT dayin:

(A) Succulents § (A) Succulents

(B) Mesophytes H (B) Mesophytes

(C) Hydrophytes | (C) Hydrophytes

(D) SUYa H A Bl 7l (D) None of the above
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7.

10.

U6 d@ o W A § Aeayl e
[T 8, 98 ©

(A) Na

(B) K

(©) Mg

(D) N

fqgarg foraa gIRT BT & ?
(A) drSved

(B) <ifecq

(C) ErElied

(D) Il

TS 3R <&l & RR &7 ol & TR B
fepoIar S & PR BIT B ?

(A) Dfesrd

(B) BRGRA

(C) Trgler

(D) @TEd

IAA |ZCNYT & ol $H-91 T 3MMaeadh
g ?

A e

(B) =l

(C) TFARM

(D) feerar

AG-2001
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10.

An element which plays an important role

in stomatal movements is :

(A) Na
(B) K

(©)
(D) N

Mg

Guttation takes place through :

(A)  Wounds

(B) Lenticles

(C) Hydathodes

(D) Stomata

Rapid deterioration of root and shoot tips
occurs due to deficiency of :

(A) Calcium

(B) Phosphorus

(C) Nitrogen

(D) Carbon

Which element is essential for IAA
synthesis ?

(A) Zn

(B) Fe

(©)
(D) Calcium

Chlorine

Set-B



11, &g Hall 3R ATl Bl ol SR e
PTeil T 8 O & 2
(A) TIET dh 9T W iR Y R
Bls <l 2|
(B) el Bl T & B & |
(C) TRy ¥ IURT ¢ & FU Id
SR TH W ¢ |
(D) =@ ¥ dlz & AW B IJuRAfd o
S URTS @1 SATaAIRT I el
PR el ¢ |
12. PN T Ifed TRFS, BRBIfIMS,
ATP, ADP, NADP ¥ WMMIqdT Brdl
g ?
(A) IRME
(B) K&
(C) HIHRA

(D) ST

AG-2001
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11.

12.

Why do freshly exposed surfaces of many

fruits and vegetables become dark ?

(A)

(B)

(©)

(D)

Dirty knife leaves some traces of

iron on them.

The fruits are black in colour.

Dust from atmosphere settles on

them.

Oxidation of tanic acid in presence
of the trace of iron from the knife

makes them dark.

Which element is common to nucleic

acids, phospholipids ATP, ADP, NADP ?

(A)

(B)

(©)

(D)

Boron

Zinc

Phosphorus

Sodium

Set-B



13.

14.

15.

fFfoiad § @ fhasdr ST S q
& Hadd & w9 ¥ A o Jadr g 2
(A) TveT ST &

(B) X dTeTdhdl

(C) Uil Pl dTgHH

(D) Suda Wl

e & & vge T S U @) e

P RPIE BRAT Adbd $R THaT 8

(A) &I Siel B FUTerdr

(B) TR Wi

(C) T =l

(D) SWa ¥ ¥ IS T

YT~ D] BT AMhAT & SR

W & Y-S ¥ Hafdd aw ? ¢

(A) Mg
(B) Mn
(© 2zn

(D) Fe

AG-2001
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13.

14.

15.

Which of the following can be used as an

indicator of water stress ?

(A) Relative water content

(B) Stomatal conductance

(©)

Leaf temperature

(D) All of the above

To record leaf water potential just before

sunrise can indicate :

(A) availability of soil water

(B)

leaf ageing

(©)

root pressure

(D) All of the above

An element concerned with the photolysis

of water during light reaction of

photosynthesis is :
(A)
(B)
©)

(D) Fe

Mg
Mn

Zn

Set-B



16. BIF-GT UP 3Mifdd drd T8l & ? 16.  Which one is not an abiotic stress ?

(A) Aferf (A) Salinity
(B) eIt (B) Puccinia
(C) TcdIeIfTe! (C) Alkalinity
(D) & (D) Heat

17. DIRGT fRreell # dcal & dfhy uRag & 17. Active transport of elements across the

17 amavadar B & cell membrane requires :
(A) ATP @ (A) ATP
(B) Cyclic AMP &1 (B) Cyclic AMP
(C) Acetylcholine ®! (C) Acetylcholine
(D) Phlorogucinol @1 (D) Phlorogucinol

18. Hifelegd fhdAdT Tedh & ? 18.  Molybdenum is a component of :
(A) B Redeo Ried (A) Phosphate reductase system
(B) Tsgce Redew Ried (B) Nitrate reductase system
(C) HIDNIeI (C) Phosphorylase
(D) TWICITSONT arek RiveH (D) Photolysing water system

19. oRArafeT fegal wfafafy @ wern 19. Leghmoglobin protects the activity of :

AT T ?

(A) TEge Redew (A) Nitrate reductase
(B) gCImS (B) Nitrogenase
(C) ered (C) Catalase

(D) WTECIHE (D) Cytochrome

AG-2001 (8) Set-B



20. & Eﬁjﬂs@.’ 3R 1AA @7 3ed 2 20. The precursor of nicotinamide and 1AA

is:

(A) 7oz (A) Glycine
(B) TRRIRH (B) Tyrosine
€) fewma (C) Tryptophan
(D) TolerIgH (D) Glutamine

21, UBR-AYAYT § YR B bIE-GT 7 21. Which colour of light is absorbed

T AP gofe Biar & ? maximum in photosynthesis ?
(A) e (A) Blue
(B) offad (B) Red
() drh (C) Violet
(D) = (D) Green

22. wfifsharelidr  offeiio  yofcdl v 22. Reactive oxygen species are key

P s Bl R A e signalling molecule produced in response
S B § o

(A) Sfdd I g (A) Biotic stress

(B) 3mifdd d-d (B) Abiotic stress

(C) @HI (A) 3R (B) (C) Both (A) and (B)

(D) SUYa H A Bl 7l (D) None of the above

AG-2001 (9) Set-B



23.

24,

25.

26.

AG-2001

yaig ¥, RS W goideid fhad gRI

WeR fhar oimar 2 ?

(A) Plastoquinone
(B) Plastocyanin

(C) Cytochrome-f
(D) Cytochrome-b

U & YHII-3TEe gRT DRSS &
TRINTIES H Uafd 8T HEand € -

(A) Hill reaction

(B) Blackman’s reaction

(C) Phosphorylation

(D) Glycolysis

YBTI-HIATT H AT bR Dl W
g

(A) ATP

(B) GTP T NADPH,

(C) NADPH, T2 ATP

(D) ATP, NADPH, TT CO,

TR T B
(A) PSI®

(B) PSII &I

(C) Hill reaction &1

(D) Citric acid cycle &I

(10)

23.

24,

25.

26.

In cyclic flow of electrons during

photosynthesis, the electron from

ferredoxin is accepted by :

(A) Plastoguinone
(B) Plastocyanin

(C) Cytochrome-f
(D) Cytochrome-b

The ferricyanide is reduced to

ferrocyanide by photolysis of water is

called as :

(A) Hill reaction

(B) Blackman’s reaction
(C) Phosphorylation

(D) Glycolysis

The assimilatory power in photosynthesis

are .

(A) ATP

(B) GTP and NADPH,
(C) NADPH, and ATP

(D) ATP, NADPH, and CO,

Ferredoxin is a component of :
(A) PSI

(B) PSII

(C) Hill reaction

(D) Citric acid cycle

Set-B



27. C; UM ¥ UYBRI-GYAWO & oRM g4 27

qTeT Ugen ReRr s ©

(A) PEP
(B) 3PGA
(C) Oxaloacetic acid
(D) RuBP

28. UM @ dg 3R ol oflad 9% Uh V9 28

e W QR PR D el o S
gl e BT g, fbd ®Y H S

ST ® ?

(D) SWE ¥ | TS el

20. B9 UBR @ INR Y& fagE fhaer 29

fert # aray o €
(A) CyUl

(B) C,Ud

(C) CAMTUFE

(D) Suda Wl

30. T ¥ CO, Widhdl 2 : 30.

(A) Phosphogycolic acid
(B) RuBP
(C) Oxaloacetate

(D) Phosphoenol pyruvic acid

AG-2001 (11)

The first stable compound formed during
photosynthesis in C3 plant is :

(A) PEP
(B) 3PGA
(C) Oxaloacetic acid
(D) RuBP

The ability of plants to grow and
complete their life cycle on a medium
that contains high soluble salt is known

as .

(A) Tolerance
(B) Susceptible
(C) Resistance

(D) None of the above

Kranz type of anatomy is found in the
leaves of :

(A) Csplants

(B) C4plants

(C) CAM plants

(D) All of the above

The CO, acceptor in sugarcane is :

(A) Phosphogycolic acid

(B) RuBP

(C) Oxaloacetate

(D) Phosphoenol pyruvic acid

Set-B



31. AG WRY] B AUT Sigd wH Dl
frre Fger & W Y T ¢ 2

(A) Na:Kratio
(B) accumulation of proline

(C) synthesising of ABA
(D) SWF &l

32. g@ @ Ry # U9 afe o @xd
g
(A) ABA
(B) Gibberellins
(C) soD

(D) SHIF W

33. Ul # fAfewer Soi IS Holl & w5
4 forg wu ¥ wfd 2l 7 ?
(A) ATP
(B) NADPH,

(C) Glucose
(D) Nucleic acids

34. 29 3R ®IH TP e U Wl ©

(A) Saccharum officinarum §
(B) Zeamays g
(C) Pennisetum glaucum ¥

(D) Hordeum vulgare 4

AG-2001 (12)

31.

32.

33.

34.

The salt tolerant crops sustain their life

cycle by maintaining :

(A) Na: Kratio

(B) accumulation of proline
(C) synthesising of ABA
(D) All of the above

Under  drought  condition  plants

accumulate more :

(A) ABA

(B) Gibberellins
(C) SOD

(D) All of the above

In plants, the radiant energy is stored in

the form of chemical energy as :

(A) ATP

(B) NADPH,

(C) Glucose

(D) Nucleic acids

Hatch and Slack cycle is not found in :

(A) Saccharum officinarum
(B) Zeamays
(C) Pennisetum glaucum

(D) Hordeum vulgare

Set-B



35. UPHTI-3G9T Bl THLC B 35. Substrate of photorespiration is :

(A) R (A) Serine

(B) TeEPIeic (B) Glycolate

) s tRrs (C) Malic acid

(D) BIRBIEATZRIE (D) Phosphoglycerate

36. Hed 9 § e Ufdfhar fbas 99 9 O 36. Kreb’s cycle starts with the formation of

ST OfrE @ i @ W & oy six carbon compounds from a reaction in
between :

g7

(A) Malic acid T acetyl coenzymes A (A) Malic acid and acetyl coenzymes A
(B) Oxaloacetic acid U7  acetyl (B) Oxaloacetic acid and acetyl

coenzyme A coenzyme A

(C) Pyruvic acid I acetyl coenzyme A (C) Pyruvic acid and acetyl coenzyme A
(D) Pyruvic acid T lipoic acid (D) Pyruvic acid and lipoic acid

37. Hd B H, UGH UPIMCT & forv 37. In Kreb’s cycle, the mineral activator

NTITH W SSNF ¢ required for enzymes aconitase is :
(A) Mn (A) Mn
(C) Mg (C) Mg
(D) Zn D) zn

AG-2001 (13) Set-B



38.

39.

40.

41.

AG-2001

AT G b SR, HZSDigar H
YA PR dTell Wedge § -

(A) Glucose

(B) Acetyl coenzyme A

(C) Phosphoglyceraldyhyde
(D) Pyruvic acid

TfIeT 3TchIgiel bl SR Bl 2

(A) TgeRife |

(B) wrscioivgard
(C) TRaTRIH H
(D) TSR H

e ¥ TRIE qF o @ W B R T
P AT AT 2

(A) IR & w9 H

(B) WIFIGRY & WY H

(C) 3FaNYo & wU H

(D) TS b wU H

T 3R dfod @ Rt @ Y @
Udh W ¥ Ul & ¥R N H RfEaRd
PR DT b BT § ST O © 7

(A) TARIEY

(B) AT

(C) 3@

(D) AT

(14)

38.

39.

40.

41.

During aerobic respiration, the substrate
which enters the mitochondria is :

(A) Glucose

(B) Acetyl coenzyme A

(C) Phosphoglyceraldyhyde
(D) Pyruvic acid

The oxidation of ethyl alcohol takes place
in:

(A) Cytosol

(B) Mitochondria

(C) Peroxisome

(D) Glyoxysome

The upward movement of water from
root to shoot apex is known as :

(A) Ascent of sap

(B) Translocation

(C) Absorption

(D) Transpiration

The absorbed and accumulated food
material are transferred from one part of

plant to another parts of plants are known

as .

(A) Ascent of sap
(B) Translocation
(C) Absorption

(D) Transpiration

Set-B



42. TRHUM TH Afdaemen URiRise T, 42. Lycopene is a powerful antioxidant,

R arerT fohaT e & which is isolated from :
(A) ®oll b (A) Banana
(B) INIHT ¥ (B) Custard Apple
(C) THIR & (C) Tomato
(D) WRIFIRY & (D) Cabbage
43. Ul | gig AT S @ 43.  Plant growth is measured by :
(A) IiEHIR | (A) Osmometer
(B) JifdoMIcR | (B) Auxanometer
(C) WM ¥ (C) Photometer
(D) TAMMER A (D) Anemometer
44. Y ¥ §999 @ fh9s 9 SR D 44. Dwarfness of the plant can be controlled
fraifya fovar o Haer 2 ? by treating it with :
(A) GA (A) GA
(B) I1AA (B) I1AA
(C) STscIdrgf A (C) Cytokinin
(D) SfRrefl (D) Ethylene

45 Hd P az—%m Ugqq fohad cﬂquﬂw g 45.  Artificial ripening of banana is induced

uRd BT 2 ? by application of :
(A) GA (A) GA

(B) I1AA (B) IAA

(C) ABA (C) ABA

(D) Sfref (D) Ethylene

AG-2001 (15) Set-B



46. THISCIHM 9T ofd § : 46. Phytochrome is involved in :

(A) Dftaaprferar | (A) Photoperiodism
(B) XN H (B) Vernalization
(C) UPI-HImoT § (C) Photosynthesis
(D) q9 § (D) Respiration

47. FOARIRE & fbd 97T § ey Red 47. Ribosomes are found in which region of

B & 7 chloroplasts ?

(A) TTAPIES (A) Thylakoid

(B) I (B) Granum

(C) o’ (C) Stroma

(D) SWE ¥ | TS el (D) None of the above

48. gPICINC @IReE B & | 48. Leucoplastsare ............. plastids.

(A) YTEH (A) Colourless

(B) ¥ (B) Coloured

(C) o I & (C) Red colour

(D) SWa &+l (D) All of the above

49. W ¥l BT DI TR Ao 49. When a plant cell is placed in Hypertonic

¥ W o 2 A P e e © solution cells show :
(A) dTgl URTENOT (A) Exosmosis

(B) SR (B) Plasmolysis
(C) UHERY (C) Endosmosis
(D) SIATHICTS R (D) De-plasmolysis

AG-2001 (16) Set-B



50.

51.

52.

53.

AG-2001

U AT Foll & BR U b BN
B Sed g 9 = g o AR i
Wﬁﬁ%:

(A) TRRRY
(B) fawwv
(C) URIRIT

(D) UNIRRT <d

G I BT i [T B §

(A >1

B) <1

(€ o0

D) 1

M 4 SURYd UM B gl HET dEar
T

(A) Holard

(B) Chesar

(C) Wics &war
(D) Echard

Eed H gfde I SR Sgem
NPl B0 8, 7 9 U8l T A
IR & G & HRU B B

(17)

50.

51.

52.

53.

Movement of particles of matter from

higher concentration to lower

concentration due to their own Kinetic

energy is known as :

(A) Osmosis
(B) Diffusion
(C) Permeability

(D) Osmotic pressure

The water potential of pure water is :

A) >1

B) <1

€ 0

D) 1

Total amount of water present in the soil

is termed as :

(A) Holard
(B) Chesard
(C) Field capacity

(D) Echard

Xylem consists of Tracheid’s vessels and
xylem parenchyma of which the first two

thick walled due to deposition of :

(A) Lignin
(B) Pactic acid
(C) Anthocyanin

(D) Flavonoids

Set-B



54,

55.

56.

S7.

AG-2001

AqdIferdT BT T BT @il o off

(A) Skoog TAT Miller q
(B) Van Overbeak q
(C) Warburg Bl

(D) Garner T Allard q

Al T’ TR b R el T T ?

(A) Straburger (1891)
(B) Overton (1911)

(C) Stephan Hales (1727)
(D) Godlewaski (1884)

R & wU H T & Siifdd Sddi I T
B TN P By H ST T R

(A) TR

(B) AT

(C) WRRY

(D) fgem

g fafme oftsda @if¥@Ri @ fR
AUEGR ATHR & BIC-BIC T I A
I €

(A) Guard cells

(B) Parenchymatous cells
(©) Xlyem cells

(D) Phloem cells

(18)

54.

55.

56.

57.

The phenomenon of photoperiodism was
discovered by :

(A) Skoog and Miller
(B) Van Overbeak
(C) Warburg

(D) Garner and Allard

The term ‘root pressure’ was coined by :

(A) Straburger (1891)
(B) Overton (1911)

(C) Stephan Hales (1727)
(D) Godlewaski (1884)

The loss of water from the living tissues
of the plants in the form of liquid is

known as :

(A) Evaporation
(B) Transpiration
(C) Osmosis

(D) Guttation

Minute pores of elliptical shape
surrounded by two specialized epidermal

cells is known as :

(A) Guard cells

(B) Parenchymatous cells
(C) Xlyem cells

(D) Phloem cells

Set-B



58. UV dcdl @l SNdRIdT BT AHeve fhdd 58. The criteria for essentiality of nutrients

gr foar mar ? given by :

(A) Arnon T Stout (1939) (A) Arnon and Stout (1939)
(B) Knops @ Sachs (1940) (B) Knops and Sachs (1940)
(C) Hoagland (1940) (C) Hoagland (1940)

(D) Gerick (1940) (D) Gerick (1940)

50. WM T T @e W died & W § 3k 59, The older leaves turn completely yellow

R o ¥ @i TgeeE ae ¥ TR and fall because nitrogen moves rapidly
_ from older leaves to ................ :

(A) I @ gl o (A) Lower leaves

(B) Hey uRml # (B) Middle leaves

(C) dmaH ufi | (C) Younger leaves

(D) W& d (D) Root

60. f=ifoiRad § ¥ -1 TuayiRd sFfMl 60.  Which one is not sulphur containing

3T TR 2 amino acid ?

(A) s (A) Cysteine
(B) TS (B) Taurine
(C) RS (C) Methionine
(D) fewlers (D) Histidine

AG-2001 (19) Set-B



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, UoR a2l Hegerk

B o ST AT SHBT SYINT AT Ifoid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT S HUFROT & q= BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8
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